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1 Introduction

In English anonwh-questim mayhave adisjunctive phraseexplicitly providing thechoices
thatthe questionrangesover. For example,in (1), thedisjuncton or notindicatesthatthe
the choiceis betweenthe positve and the negative polarity for the relevant propositon,
asspelledout in the yes/no(yn)-questionreading(2) andin the answerg2a,b). Another
exampleis (3). Thedisjunctionin (3) canbe understoodsproviding the choicesthatthe
guestionrangesover, hencegiving rise to the alternatve (alt-)readingin (4) andeliciting
theanswerdn (4a,b). (Cf. Karttunen(1977)andHigginbotram (1993)for the semantics
of yn/alt-questbns)

(2) Did Johneatbeansor not?

(2) “Is it trueor falsethatJohnatebeans?”
a. Yes,Johnatebeans.
b. No, Johndidn’t eatbeans.

3) Did Johneatbeansor rice?

(4) “Which of thesetwo thingsdid Johneat: beansor rice?”
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Grantwhenthis papemwaswritten.
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a. Johnatebeans.
b. Johnaterice.

The syntaxof this type of disjunctive nonwh-questionsyhich alsooccurembed-
ded(see(5)-(6)), is the topic of the presentpaper Note that (3) and (6) alsohave a yn-
reading,spelledoutin (7). Underthis reading the questionchoicedoesnotrangeoverthe
overt disjunctsbeansandrice, but over a positve and negative polarity not explicitly ex-
pressedAlthoughit is beyondthe scopeof this paperto determinehe syntaxof questiams
without overt associatedlisjunctian, we will briefly sketchpossibleanalyseof themthat
arecompatilbe with the mainclaimsof this paper

(5) I wonder[whetherJohnatebeansor not].
a. Yn+eading:“l wonderwhetherit is trueor falsethatJohnatebeans.

(6) 1 wonder[whetherJohnatebeansor rice].
a. Alt-reading:“l wonderwhich of thesetwo thingsJohnate:beanor rice”

(7) Ynreadingfor (3) and(6):
“Is it true or falsethatJohnateary of thesetwo things,beansor rice?”

a. Yes,Johnatebeanor rice.
b. No, Johndidn’t eatbeansor rice.

Throughoutthis paper we will call both matrix andembeddedonwh-questims
with anassociatedisjunctive phrasevhether/Q...oconstructios. Q correspondso covert
whether Positinga covertwhethernn matrix nonwh-questionss motivatedby thefactthat
therearelanguageshatallow overt whetherin matrix non-wh-questions Examplesrom
Early ModernEnglishandYiddish aregivenin (8) and(9).

(8) EarlyModernEnglish (examplegakenfrom Radford(1997):pg. 295)
a. Whether hadyou ratherlead mine eyesor eye your masters heels? (Mrs
Page,Merry Wivesof Windsor, 111.ii)
‘Would you ratherleadmy eyesor eye your masters heels?’
b. Whether dostthou professthy<elf a knave or afool? (Lafeu, All'’s Well that
Ends\Well, IV.v)
‘Do you professyourself(to be)aknave (= scoundrelpr afool?’

(9) Yiddish
a. (Tsi) reykhertMiryam?
whethersmoles Miryam
‘DoesMiryam smole?’

b. Shmuelhot mikh gefragt, tsi Miryam reykhert.
Shmuelhasme asked whetherMiryam smoles
‘Shmuelaslked me whetherMiryam smoles.
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There have beentwo main approacheso the syntaxof disjunctive Opemtor...or
constructionsn theliterature.Larson(1985)assimiatesthe syntaxof whether/Q...ocon-
structiongo either..ar constructiongsin (10), aguingthatin both,eitheror whether/Qs
base-generateatljacento thedisjunctive phraseandthatit undegoesmovenent.

(20) EitherJohnatebeansor rice.

Schwarz (1999), on the other hand, shaved that the syntaxof either..or can betterbe

accountedor if we assumehatthe seconddisjunct is a clausewith a particulartype of

ellipsis namelygapping.Unfortunately he wasnot ableto extendthe ellipsis analysisto

whether/Q...or becauséhe found certainasymmetriebetweenwhether/Q...orstructures
andthetype of ellipsis allowedin eithet..or.

In this paper we proposehatthe syntaxof whether/Q...oquestios involves ellip-
sisof thetypethathasbeenarguedto exist for either..or constructionsThisis illustratedin
(11) for whether/Q...omand(12) for eithet..or. We alsoargue,with Larson thatwhether/Q
undegoesmovemnment. We attribute the apparenasymmetriebetweenwvhether/Q...oand
either..or constructiongo the factthatwhether/Qis a wh-phrasethat canundego move-
ment,while eitheris not.

(11) a. (Q/whether)Did Johneatbeansorrice?
b. (Q/whether)did Johneatbeansior [didJehneatrice]

(12) a. EitherJohnatebeangrrice.
b.  either[Johnatebeansjor [Jehnaterice]

Threeargumentdor our combineckllipsis/morementanalysisof alt-questiaswill
bepresented(i) Englishwhether/Q...oquestimspresenttthesameime movementchar
acteristicg(sensitvity to islands,contrastwith if) andellipsistraits (Focuspatternon the
disjuncts; (ii) certainasymmetesbetweerwhether/Q...oandeither..orareresoled,per
mitting for aunifiedaccounbf thetwo typesof constructios; and(iii) crosslingustic data
on the surfacestring syntaxof Subject-Object-¥rb (SOV) languagesupportthe ellipsis
accountin generaland,indirectly, the movementaccountfor English.

This paperis organizedas follows. In sections2 and 3, we will briefly present
the main pointsof Larsons movementaccountand Schwarz’s ellipsis account. We will
thenpresenbur analysisof alt-questionsn section4, a combinedapproachof movenent
and ellipsis analyses. It will be shavn that the new accountexplains the asymmetries
betweenwhether/Q...orand either..or and the aforementionednixed characteristicof
whether/Q...omuestions. Section5 presentdurther supportng evidencefor the ellipsis
analysisof alt-questios from languagesvith canonicalSOV word order: Hindi andKo-
rean. We concludewith somediscussbn on alt-questios involving right-noderaising,in
section6.
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2 Larson’s Movement Account

Accordingto Larson(1985),in sentencewith either..or, eitheroriginatesadjacento adis-
junctive phraseandmovesto higherupin the clause determinng the scopeof disjuncton.
For instance,in (13a), either originatesadjacentto rice or beans moving to the surface
position adjacento VP. In (13b),eitheroriginatesadjacento rice or beans moving to the
surfaceposiion adjacento IP.

(13) a. Johneitheraterice or beans.
Johneither, atet; [ p rice] or [xyp beans]

b. EitherJohnaterice or beans.
Either, Johnatet; [ p rice] or [xp beans]

Larson extends the movenent analysis of either..or constructions to
non-wh-questions He arguesthata nonwh-questionhasa questim operator:whetheror
null Q. This operatororiginatesrom a disjunctian phraseandmovesto [Spec,CP], mark-
ing the scopeof disjunction. Moreover, this type of questionmay have anovert or anun-
pronouncedlisjuncton phraseor not. If thedisjuncton phrasegrom which thewhether/Q
originatedss theovertor theunpronouncear not, thentheyn-questionreadingis derived.
Otherwise the alt-questionreadingis derived. For instance the nonwh-questionin (14)
can have eithera yn-questionreadingor an alt-questbn reading. Underthe yn-question
reading,the whether/Qoperatororiginatesfrom or not and movesto [Spec,CP], asrep-
resentedn (14a). This representatiomakes availablethe alternatves John drank coffee
or tea and John didn't drink coffee or tea as answers. Under the alt-questbn reading,
the whether/Qoperatororiginatesfrom the disjunctian phrasecoffee or teaandmovesto
[Spec,CP], asrepresentedh (14b). This representatiomakes availablethe alternatves
JohndrankcoffeeandJohndrankteaasanswers.

(14) Did Johndrink coffeeortea?

a. ynquestion:
Op; (¢; or not) [did Johndrink [coffeeor tea]]
{Johndrankcoffeeor tea,Johndidn’t drink coffee or tea}

b.  alt-question:
Op; [did Johndrink [¢; coffee or tea]]
{Johndrankcoffee,Johndranktea}

Supportingevidencefor the proposalthat whether/Qmoves from a disjuncton
phraseto [Spec,CP] comesfrom the fact that nonwh-questionghat have a disjuncton
phrasdansideanislanddo not have the alt-questbn readingavailable.

(15) DoyoubelievetheclaimthatBill resignecor retired?
a. ynquestion:
Op; (¢; or not) [do you believe [ y p theclaimthatBill resignedor retired]]

b. * alt-question:
Op; [do youbelieve [ xp theclaimthatBill [ ¢; resignedr retired]]]
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In (15), thedisjunctive phraseresignedor retiredis insidea complex NP. The alt-queston
readingis not available sincethe empty operatorwould have to move out of anisland
to generatehis reading,asrepresenteth (15b). But the yn-questiornreadingis available,
sinceunderthisreadingtheemptyoperatoiis moving from theunpronouncedr not, which
is notinside anisland. Thisreadingis representet (15a).

3 Schwarz'sEllipsis Account

Schwarz (1999) arguesthat the syntaxof either..or can be assimiatedto the syntaxof
coordinateconstructionghatinvolve gapping atypeof ellipsis Gappingoriginally refers
to the grammaticalprocesswhich is responsibldor the deletionof a verbin the second
coordinateof a conjunctive coordinationunderidentity with thefirst coordinateasin (16)
(Ross1970). Thedeletedmaterialin thesecondcoordinatds calledgap, andthe materials
in thesecondcoordinatehathave notbeendeletedarecalledremnants

(16) a. TomhasapistolandDick asword.
[Tomhasa pistol] and[Dick kasa sword]. (Schwarz1999,30a)

b. Someatebeansandothersrice.
[Someatebeansfnd|othersaterice]. (Schwarz 1999,30b)

Schwarzpointsout thatgapsmay containmorethanjustaverb,asshovnin (17a),
althoughthefinite verbof thesecondtoordinatas alwaysincludedin thegap,asillustrated
by theungrammaticalityof (17b). He arguesthatthis factis comparablevith theideathat
either..or constructbnsinvolve gapping.

(17) a. Bill musteatthe peachesgyuickly andHarry slowly.

[Bill musteatthe peachegjuickly] and[Harry musteatthe peacheslonly].
(Schwarz1999,33a)

b. * Bill musteatthe peachesjuickly andHarry mightslowly.
[Bill musteatthe peachesjuickly] and[Harry might eatthepeacheslonly].
(Schwarz1999,30b)

Accordingto Schwarz, in either..ar constructionseither marksthe left periphery
of the first disjunct,and somematerialsin the seconddisjunctare deletedunderidentiy
with thefirst disjunct. Thisis representeth (18).

(18) a. Johneitheraterice or beans.
Johneither[y p aterice] or [ p atebeans)Schwarz1999,28a)

b. EitherJohnaterice or beans.
either[;p Johnaterice] or [;p Johnatebeans)Schwarz1999,28b)

A compellng pieceof supportng evidencefor gappinganalysisof either..or con-
structionscomesfrom what Schwarz calls dangling remnants Danglingremnantsvould
occurin the secondconjunctof a coordinateconstructionif you wereto have elisionin
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boththefirst andthe secondconjunct,resultingin anunbalancecllipsis Schwarz points
out thatdanglingremnantsareprohibitedin gappingconstructios, asin (19), andshaovs
thatthey areprohibitedin either..or constructiongswell, asin (20).

(19) a. * Sometalkedaboutpolitics andotherswith meaboutmusic.
[sometalkedwith-meaboutpolitics] and[otherstalkedwith meaboutmusic].
(Schwarz1999,40b)

b. * JohndroppedhecoffeeandMary clumsily thetea.
[John elumsly droppedthe coffee] and [Mary clumsly dreppedthe tea].
(Schwarz1999,41b)

(20) a. ?7?EitherthispissedBill or Sueoft.
either[this pissedBill off] or [thispissedSueoff]. (Schwarz1999,43a)

b. ??Eitherthey lockedyouor meup.
either[they lockedyou up] or [thertecked meup]. (Schwarz 1999,43c)

Larsons movementaccounton the otherhandhasnothingto sayaboutthe factthatexam-
pleswith danglingremnantsaaredegraded.

Schwarz however did not extendthe gappinganalysigo alt-questbnsbecausgap-
ping allowed in whether/Q...orconstructionappeardo be differentfrom either..or con-
structions First of all, whether/Q...oiconstructios seemto allow danglingremnantsun-
like either..or constructios andothercoordinateconstructios with gapping.

(21) a. DidthispissBill or Sueoff?
b. Did sheturnthetestor thehomevork in?
c. Did hegulponeortwo down?

The questiondn (21) canall have the alt-questio reading. But if we wereto apply the
gappinganalysisto thesequestionsthenwe would endup with danglingremnantswhich
wereprohibitedfrom othergappingconstructons.

Second,whether/Q...orconstructiondehae differently from othergappng con-
structionsin thatwhile elided materialscannotspreadacrossnatrix andembeddedinite
clausesasshavn in (22), they seemto be ableto in whether/Q...orconstructios, asin
(23).

(22) a. * Thefirstlettersaysthatyou shouldpaytaxandthesecondetterV.A.T.
[thefirst letter saysthatyou shouldpaytax] and[the secondetter
saysfthatyyoushoub-payV.A.T]]. (Schwarz1999,61a)

b. ??EitherBill saidthatMary wasdrinking or playingvideogames.
Either[Bill saidthatMary wasdrinking] or

[BillsaidfthatMaryrwasplayingvideogames].

(23) a. Did JohnsaythatBill retiredor resigned?
b. Did JohnclaimthatBill drankcoffeeor tea?

Thequestimsin (23) all have thealt-questio readingavailable.|If thisreadingwasderived
via gappirg in the seconddisjunctsin (23), thenthe ellipsiswould spreadbeyond a finite
clauseboundaryBut thisis impossiblein othergappingconstructios.
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4 Our Proposal: Combination of Movement and Ellipsis

In this sectionwe first shav thatwhetheris in [Spec,CP], beinga wh-phrase asopposed
to C°, acomplementier position. We thenarguethatthe ellipsisaccountcanbe extended
to whether/Q...orconstructionsf whether/Qcanundego movementto [Spec, CP], just

like otherwh-phrases.

4.1 Whether/Qsawh-phrase

Onecompellingpieceof evidencethatsupportgheideathatwhetheris in [Spec,CP]comes
from thefactthattherearelanguageshatallow whetherto cooccumwith acomplenentizer
For example, this is attestedn Middle English. The exampksin (24) are from Penn-
Helsinki ParsedCorpusof Middle English(Kroch andTaylor (2000)).

(24) a.

for menwetennou+gtwhetter +tat heleue+tor is dede.(cmbrut3,90.272)
‘For peopledon’t know whetherheis alive or is dead’

andwhetter +tat heshalascaper dye,at Godeswil mosthit be.
(cmbrut3,107.325)
‘and whetherhe escapesr dies,it mustbe accordingto God’s will’

asle hymwhetter +tat er+teysherre+tenHeuen?cmmirk,10.23)
‘ask him whetherEarthis higherthanHeaven?’

for Seynt leromesei+twhettur +tat he ete,drynke, or slepe,or what-euerels
+tathedothe,(cmroyal,18.162)

‘for SaintJeromesaysthat,whetherhe eats,drinks,or sleep;spr whatever else
thathedoes’

it weerefor to witen whether that alle thisethingesmake or conjoyneneasa
manerbody of blisfulnesg by diversie of partiesor membres,..
(cmboeth,433.C1.189

‘it would be to know whetherall thesethings make or conjoin asa mannera
body of blissfulnessdy diversity of partsor members..

It turnsoutthatMiddle English alsoallows awh-phraseo cooccurwith acomplementier,

asin (25).

(25) a.
b.
C.

First the behouethto knowe why that suchea solitary lyf was ordeyned.
(cmaelr4-s0.m4,13)
‘First, it behowestheeto know why sucha solitarylife wasordained.

... hewistewel hymselfwhat that hewoldeanswere.. (cmctmeli-s0.183,75)
‘he himselfknew well whathewould answer’

Now shallye understondén what manere that synnewexethor encreesseth
in man.(cmctparss0.m390)
‘Now you shallunderstandh whatmannersin grons or increasesn man.



HanandRomero

d. | prayyoutellemewhat knyght that ye be (cmmalory-20.m#4655)
‘Pleasetell mewhatknightyou are’

Samefactsobtainin BelfastEnglish (p.c. Alison Henry).

(26) a. ?Johnwonderswhether that Mary atebeans.
b. Johnwonderswhich sandwich that Mary ate.

Thissuggestshatwhethershouldnotbeclassifiedasacomplenentizer but asawh-phrase,
occupying [Spec,CP].

Furthermore Larson(1985) pointsout, citing Jesperseii1909-49),that whether
developed historically asthe wh-counterparof either, andit originally meant‘which of
eitherA or B'. If whetheris a wh-phrase|t is reasonabléo assumehatit andits covert
versionQ canendupin [Spec,CP] by movementjustlike ary otherwh-phrases.

4.2 Ellipsisin alt-questions

We amuethatthe ellipsis analysiscan be extendedto whether/Q...orconstructios if we
incorporateheinsightfrom Larsonthatthe whether/Qundegoesmovement.The starting
point of our analysisis thatthe degradedeither..or constructionsvith danglingremnants
andthosewith ellipsis spreadingacrossmatrix andfinite embeddedlausedbecomewell-
formedif eitheris lowerin theclause.

(27) a. ThiseitherpissedBill or Sueoff.
b.  thiseither[yp pissedBill t;] or [y p pissedSuet;] off;

(28) a. Bill saideitherthatJohnretiredor resigned.
b. Bill saideither[c thatJohnretired]or [ thatdehnresigned]

Accordingto Schwarz,in (27a),eitheris adjoinedto VP markingtheleft peripheryof the
first disjunct,andthe particleoff hasundegoneright-noderaising,asrepresenteth (27b).
Giventhisanalysistheonly elidedmaterialis theverbpissedn thesecondlisjunct,andso
thereis no danglingremnant: In (28a),eitheris adjoinedto C’, andsoellipsisis restricted
to theembeddedinite clause asrepresenteth (28b).

The differencebetweenwhether/Qand either is that whether/Qis a wh-phrase,
while eitheris not,asnotedin Larson.This meanghatwhether/Qcanundego movenent,

! According to Schwarz,in (20a) (repeatedhereas(1a) theoptionof right-noderaisingthe particlg asin
(1b), is difficult, if notcomgetely unavailable, becausehe particlewould have to right-noderaiseabove IP.
But right-noderaisingoptionis availablefor (27a)becausehe particleis requredto raiseonly abose VP.

(1) a. ??Eitherthis pissedBill or Sueoff.

b. ?7?Either[;p this pissedBill t;] or [rp thispissedSuet;] off;.
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leaving a trace,while either cannot. In otherwords,the traceof whethercorrespondso
the surfaceposition of either. Thisin turn meanshatthe left edgeof ellipsis canbe the
originatirg position of whether/Q andnot its surfaceposition, andthataslong asthereis
a grammaticakourcesentencavith either, the correspondingvhethersentenceshout be
well-formed. This thenis why whether/Q...orconstructios appearto allow unbalanced
ellipsis and ellipsis acrossmatrix and embeddedinite clauses.The LFs we proposefor
(21a)and(23a)aregiven in (29a)and (30a)respectrely. For us,(21a)doesnotinvolve
adanglingremnantasin (29b),and(23a)doesnot involve ellipsis acrosginite embedded
clauseasin (30b).

(29) Did this pissBill or Sueoff? (repeatedrom (21a))
a. Q; did thist; [y p pissBill t;] or [y p pissSuet;] off;
b. * Q;[¢ didthispissBill eff] or [ didthispissSueoff]
(30) Did Bill saythatJohnretiredor resigned{repeatedrom (23a))
a. Q; didBill sayt; [¢r thatJohnretired]or [ thatdehnresigned]
b. * Q;[¢ didBill saythatJohnretired]or [ didBi-saythatdehnresigned]

In our analysisthe apparenunbalancecllipsis actuallyinvolvesdisjunctian of VPswith
a right-noderaisedparticle, and the apparentllipsis acrossmatrix and embeddedinite
clausesactuallyinvolves disjuncton of that-clauses.

4.3 Predictions and consequences

Severalmovementandellipss characteristicef whether/Q...oquestiondollow from our
combinedproposallslandeffects,contrasbetweerwhetherandif, andtheparticularstress
patternon the associatedlisjunctswill be examinedin turn in the following subsectios.
Wewill alsobriefly considempossilbe syntacticanalyse®f nonwh-questimswithoutovert
associatedisjuncton. Finally, wewill discussegative polarityitem (NPI) licensingin alt-
andyn-questions

4.3.1 Ildand effects

Ouranalysisof whether/Q...othatcombinedothellipsisandmovementaccounpreseres
Larsons predictionthatalt-questiorreadingcannotbe obtainedf thedisjuncton phrasds
insideanisland.Underthe combinedapproachthe questiorunderanalt-questiorreading
is ruled out becauseat would involve whether/Qmovement out of a complex NP (asin
Larson,illustratedin (31a)),or becausé& wouldinvolve ellipsisthatspreadsicrossamatrix
clauseanda complex NP (asin Schwarz,illustratedin (31b)).

(31) DoyoubelievetheclaimthatBill resignecor retired?

a. *Q; doyou believe [yp the claim [¢p t; [that Bill resigned]or [thatBill re-
tired]]]

b. *Q;dot; [;p youbelieve [yp theclaim[¢p [that Bill resigned]]]]or

[rr youbelieve [ vp theclaim|[p [thatBill retired]]]]
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4.3.2 Whethews. if

In addition to whether embeddedjuestionscan be introducedwith if. And just like
whether if canbe associatedvith a disjuncton, allowing for analt-readingasillustrated
in (32).

(32) Johndidn’t know if Mary drankcoffeeor tea.

It is standardlyassumedhatif introdwcing anembeddedjuestim is acomplemen-
tizer. Further the standardassumpbn is thatcomplementizerdo not move. This predicts
thatan embeddedjuestionintroducedwith if and containinga disjuncton phraseshould
behae like either..ar constructionsandnot whether/Q...oconstructionsThatis, anem-
beddedquestionintroducedwith if shouldnot allow the alt-readingif it hasa disjuncton
phrasefollowed by a patrticle, or a disjuncton phraseinside an embeddedinite clause,
just asin correspondingentencesvith either. This predictionis borneout, asshown in
(33) and (34). Exampleswith if are more degradedthan exampleswith whetherin the
alt-reading?

(33) a. ?7?EitherthispissedBill or Sueoff. (Schwarz1999,43a)
b. ??Mary doesnt know [if this pissedBill or Sueoff].
c.  Marydoesnt know [whetherthis pissedBill or Sueoff].

(34) a. ?7?EitherBill thinksthatJohnretiredor resigned.
??Mary doesnt know [if Bill saidthatJohnretiredor resigned].
C. Mary doesnt know [whetherBill saidthatJohnretiredor resigned].

o

4.3.3 Focuspattern

A (written) questionsuchasDid Johndrink coffee or tea? has,in principle, two poten-
tial readings:the yn-questionreadingandthe alt-questiorreading. However, asnotedin
Romero(1998),Focusintonation disambguateshetwo readingsitheyn+eadingpresents
neutralintonaton on the disjunctive phraseasin (35a),whereaghe alt-readings in gen-
eralachiezedby placingFocusstresson eachdisjunct, asin (35hb).

(35) a. Did Johndrink coffeeor tea?(neutralintonaton, yn+eadingonly)
b. Did Johndrink COFfeeor TEA? (Focusin capitals alt-readingonly)

2For indeendenteasonsliscussedh Adger andQuer(2007), anaffirmative sentencevith anembeded
guestionintroducedwith if is degraded,n compaisonto a negative sentenceasshavn in (1). To contmol for
this factor we usenegative sentences (33b-c) to illustratethe asymmety betweerwhetherandif.

(1) a. #Johnknew if Mary hadcommittedthe crime.
b.  Johndidn't know if Mary hadcomnitted thecrime.
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Also, a ynrreadingin a questionwith overt or not correlateswith the presenceof
stresontheverbandonnot, asin (36).

(36) Did JohnDRINK or NOT?

Thefunctionof this doublefocusis naturallyexplainedif whether/Q...oconstruc-
tionsinvolve ellipsis We canthensaythatthe doublefocuson the disjunctscorresponds
to the focuson the remnantandits correlate,asit is usualin elliptical constructios like
VP-ellipsis(asin (37a))andgappingin declaratves(asin (37b)). Theresultingstructures
areillustratedfor whether/Q...ocasesvith oneremnanin (38a-b),andfor caseswith two
remnantsn (38c).

(37) a. MaTlLdawentto thetheater SUsandid gete-thetheatertoo.
b. JOHNdrankCOFfeandMARY dranrkTEA.

(38)

o

Q; t; [~ Did Johndrink COFfee] or [ die-hedrink TEA]?
b.  Qit; [ Did JOhnDRINK] or [ did-he NOT drink]?
c.  Q:t; [ Did JOHNdrink COFfee]or [ did MARY drink TEA]?

4.3.4 Syntax of non-wh-questions without an overt associated disunction

Underour ellipsisanalysis the syntaxof alt-questbnsandyn-questionswith overt or not
are parallel: bothinvolve ellipsis anda focusedremnantandthe semantiadifferencede-
rivesfrom the differentmaterialin thedisjuncts.As for yn-questionsvithout overt or not,
thetwo following analysesrecompatibé with the mainclaimsof the presenpaper

A first possibleapproachs thatyn-questios like (39) areactuallya disjuncton of
affirmative andnegaitve clauseswhereQ is associatewvith or thatdisjoinsthetwo clauses.
Underthis approachpneof the clauseshasbeendeletedjncludingthe disjurctive marker
or. Thisis representeth (40).

(39) Did Johneatbeansor rice?
“Is it the casethatJohnateary of thesetwo things: beansor rice?”

(40) Q [Did Johneatbeansor rice] erfdid-Jehnneteatbeansorrice]?

A secondoossibleapproachs thata yn-questiondoesnot containa disjunctian of
clausesat the level of syntaxandso Q doesnot associatevith or, asrepresentedh (41).
Underthis approachthereis no ellipgs in the syntaxof yn-questionsandthe disjuncton
of affirmative andnegative propositonsareprovidedin semanticgCf., Karttunen(1977)).

(41) Q [Did Johneatbeansor rice]?
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4.35 NPIsin alt- and yn-questions

As pointedoutin Ladusav (1980)andHigginboham(1993),alt-questbnsdo not license
NPIs, while yn-questionsdo. Considerthe examplesin (42) which are from Higgin-
botham(1993).

(42) a. DidJohnplaychessor checlers?
b. Did anyoneplay chessor checlers?

While (42a)is ambiguos betweena yn-questionand an alt-queston, (42b) canonly be
interpretedasa yn-question

Our syntaxof yn- andalt-questiongloesnot make ary predictionswith respecto
NPI licensing. Underour analysis(42b) would be representeas (43) for theyn-reading
andas(44) for the alt-reading.As far assyntaxis concernedif anNPI is licensedin the
structuresn (43) (possilly becausét is in the c-commandiomainof Q), it shout alsobe
licensedn (44) aswell. But thefactis that(44) is not possilte.

(43) a. Possibiliy 1:
Q [did anyoneplay chessor checlers]erfdid-anyonenotplay-chessor
-chekelers]

b. Possibiliy 2:
Q [did anyoneplay chessor checlers]

(44) Q|[did aryoneplay chessor [did-anyeneplay checlers]

This, however, is not a problemif NPI licensingin questionsappliesat a level
more abstractthan LF, alongthe lines proposedin Higginbotham(1993) and Han and
Siggel (1997).Higginbothamadoptgheproposaby Ladusav (1980)thatNPIsmayappear
only within the scopeof downward entailing expressims. Accordingto Higginbotham,
whetherfunctionslike a universalquantifiersuchas every. Hence,whetherwill license
NPIsin its restrictve clause,but notin its nuclearscope. Higginboham proposeg45a)
for thesemantiaepresentationf yn-readingof (42b). Underthis reading the NP1l anyone
is licensedbecauseét occursin the restrictve clauseof a universalquantifier He further
arguesthat(45b)wouldbethesemantiaepresentatiofor thealt-reading But (42b)cannot
have this interpretatiorbecause¢he NP1l anyonecannotbe licensedn the nuclearscopeof
auniversal quantifier

(45) a. [Vp: p = arnyoneplayedchessor checlersVv p = —(anyone playedchessor
checlers)]?p

b. *[Vx: x =chessv x = checlers] ?aryoneplayedx

HanandSiegeladoptthesemantic®f questionsn GroenendijkandStokhof(1984),
wherea questionis a function that partitiors the setof all possibleworlds. The partition
correspondso the setof propositiors which are possilbe answers.Han and Siegel argue
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thatanNPI is licensedn a questionf the partition containsa propositon thatcorresponds
to a negative answer This meanghatthe partition returnedby (42b) undera yn-question
readingcontainsa propositonthatcorrespond$o a negaive answei(i.e., -[anyoneplayed
chessor cheders]) andso an NPl is licensed. On the otherhand,the partition returned
underanalt-questio readingdoesnot containa propositon thatcorresponds$o a negative
answer:it only containsanyoneplayedchessandanyoneplayedcheders. Hence,anNPI
cannotbelicensedunderthealt-reading.

5 Crosslinguistic Support

Languageghat have SOV word order provide further evidencethat the syntax of alt-
guestiongnvolve ellipsis Moreover, when ellipss doesnot suffice (e.g., whenthereis
disjuncton in an embeddectlause),the samescopalmechanismghat apply to regular
wh-phraseapplyto whether/Q supportinghatwhether/Ghasthe syntaxof awh-phrase.

51 Hindi

If anonwh-questim suchasDid Chanda drink coffeeor tea? hasa yn-questionreading,
coffeeor teais instantatedasan NP disjunct in the objectposition, asin (46). The same
guestioncannever have analt-reading.

(46) (Kyaa)Chandra-ne coffee yaa chai pii?
what Chandra-Ey coffeeor tea  drink-Pfv
‘Is it the casethatChandradrankcoffee or tea?’ (yn-question)

On the otherhand,in (47a), wherecoffee andtea are separatedy the verb drink, only
alt-questiorreadingobtains. In this question coffeeis the objectof the first disjurctive
clause andteaoccursalonein the seconddisjurct. This suggestshatthe subjectandthe
verbhave beenelidedin thesecondlisjunct asrepresenteth (47b)3

(47) a. (Kyaa)Chandra-ne coffee pii yaachai?
what Chandra-Ey coffee drink-Pfvor tea
‘Which of thesetwo thingsdid Chandradrink: coffeeor tea?’
(alt-question)

b. (Kyaa)Q [Chandra-necoffee pii] yaa[Ehandra-nechai pit]?
what Q Chandra-Eg coffee drink-Pfvor Chandra-Egtea drink-Pfv

3In principle, a yn-questionreadirg shoud be availableto (47a) aswell asanalt-readng. But only alt-
readirg seemdo be availableto native spealers. This may be a pragnatic effect causedby disjoining full
clausesn awhether/Qquestion.The sameeffectis attestedn Englishwhetherquestioms with two disjoined
clauses:e.g.,| wonderwhetherJohndrank coffeeor he drank tea. We will seelater (cf., (52), (57b) that
yn-gquestionreadirg is availableto whether/Qquestionavhendisjoinedclausesarerestrictedto embeded
contets.
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Let us now turn to questios with embeddedlisjunction. An alt-questiornwith a
disjunctonin anembeddedlauseobligataily hasascopemarkerkyaa We arguethatthis
scopemarkingmechanisms the samemechanisnusedfor wh-questionsn Hindi. It has
beennoted(cf., Dayal (1996))that Hindi is a wh-in-situ languagewith LF wh-movenent
(overtly movedwh-phrasesregenerallyassumedo be scrambled)asexemplfied in (48).

(48) Tum-neus-ko kyaa diyaa
you-Emg he-Datwhat give-Pfv
‘What did you give him?’

It hasalsobeennotedthatLF wh-movementis not possibé out of finite clausesn Hindi,
asin (49).

(49) Tumjaanteho[ki us-ne kyaa kiyaa]
you know bethathe-Exgwhat do-Pfv
‘Y ou know whathedid.
*What doyouknow hedid?’

Theway to obtaina direct questionwhenthe wh-phraseoriginaesin anembeddedinite
clauseis by usingthe scopemarker kyaain thematrix clause asin (50) (Cf., Dayal(1996),
Dayal (2000)for syntaxof wh-scopemarking).

(50) Jaunkyaa soctaahai [ki meriikis-se baatkargyii]
Johnwhat think be-PreghatMary who-Instalk do-Fut
‘What doesJohnthink, whowill Mary talk to?’
l.e.,'Who doesJohnthink Mary will talk to?’

What happenghenwith Hindi alt-questbnswith embeddedlisjuncton? Recdl
from sectiord.2that,in Englishalt-questionswhenthedisjunctionoriginatesrom afinite
embeddedlause we proposedhat whethermovesfrom the embeddedCP to the matrix
CP overtly andthatthe traceposition marksthe left edgeof ellipsis. But aswe just saw,
(LF) wh-movementin this configurationis not possiblein Hindi. Interestingly theway to
overcomethis handicapn Hindi alt-questionss the sameasHindi wh-questions usinga
scopemarkingstructurewith kyaa Thatis, while kyaais optionalin simplealt-questios
(asin (47a)) andin yn-questions(asin (46) and (51)), it is obligaory in alt-questios
involving anembeddedlisjuncton, asin (52).

(51) Jaun(kyaa)sochtadai [ki Chandra-ne coffee yaa chai pii thii]
John(what)think be-PreghatChandra-Bg coffeeor tea  drink-Pfv Past
‘Is it thecasethatJohnthoughtthatChandradrankcoffeeor tea?’
(yn-question)

4(52) canhave eitheran alt-question readirg or a yn-questionreadirg. Undertheyn-readng, DoesJohn
think that Chanda drankcoffeeor Chanda dranktea?, kyaacanbedeleted.
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Jaunkyaa sochtaahai [ki Chandra-ne coffee pii thii yaachai]?
Johnwhat think  be-Prethat Chandra-Ey coffee drink-Pfv Pastor tea
‘Which doesJohnthink: thatChandradrankcoffee or thathe dranktea?’
(alt-question)

The obligatainess of kyaa under the alt-reading suggeststhat the combined

ellipsigwh-phraseanalysighatwe have proposedor Englishalsoextendsto Hindi, yield-

ing (53) astherepresentationf (52). First, asin English, gappirg in Hindi declaratves
is clausebound(see(54)-(55)). And sois ellipsis in Hindi alt-questons. For, if ellipsisin

Hindi alt-questbnscould spreadacrossa finite clauseboundarywe could have therepre-
sentationn (56) insteadof the onein (53), andthenkyaawould be wrongly predictedto

be optional(since®@ would bein the matrix clause asin (47b)).

(53)

(54)

(55)

(56)

Jaun kyaa sochtadai [cp Q[[c ki [Chandra-ne coffee pii thii]]
what Johnthink be-Predcp Q[[ ¢ that[Chandra-Eg coffee drink-Pfv Past]]
yaa[ o kiH{Chandra-re chai pithii]]]]?

or [¢ that{Chandra-Egtea drink-Ph+Past]]]]

‘Which doesJohnthink: thatChandradrankcoffee or thatChandradranktea?’

Sueaaluu pasandkartii  hai aur Marthapyaaz
Suepotatoedike  do-Habf be-PresandMarthaonions
'SuelikespotatoesandMarthaonions.

Suesochtii hai ki mEBIll-ko pasandartaa huN aur Martha
Suethink-Habf be-Preghatl  Bill-Dat like  do-Habbe-1SgandMartha
Tom-ko

Tom-Dat

'Suethinksthatl like Bill andMartha(likes)Tom!

*Sue thinksthatl like Bill andMartha(thinksthatl like) Tom!

Jaun(kyaa) Q [ sochtadai [cp ki Chandra-ne coffee pii thii]]
Johnwhat Q[ think be-Pregqp that[Chandra-Eg coffee drink-Pfv Past]]

yaa[sechtadhat-pki-Chandra-ne chai pi-thit]]?

or [think be-Pred,., that[Chandra-Egtea drink-PfvPast]]

‘Which oneis true: Johnthinks that Chandradrank coffee or Johnthinks that
Chandradranktea?’ (samereadingasin (53))

Secondaswe mentionedthesamescopingmechanisnapplieso wh-phrasesindwhether/Q
in Hindi, andin bothcaseghis mechanisnis subjectto the sameconstraintsin particular
kyaacannotmarkthescopeof awh-phrasansideanisland.For instance(57a)is possible
underthe ynreading,but it is impossble underthe matrix wh-questionreading. Simi-
larly, kyaacannotmarkthe scopeof whether/Qassociatedavith a disjunctonin anisland.
Thatis why (57b) cannotbe interpretedasan alt-questio. It canonly be interpretedasa
ynquestion.
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(57) a. Ram-lo kyaayehbaat pataa hai ki Chandra-nekyaapii
Ram-Datwhat this thing known be-Preghat Chandra-Eg whatdrink-Pfv
thii?

Past
‘DoesRamknow whatChandradrank?’
*What doesRamknow thefactthatChandradrank?’

b. Ram-lo kyaa yehbaat pataa hai ki Madhu-ne chai pii
Ram-Datwhat this thing known be-PreghatMadhu-Eg tea drink-Pfv
thii yaacoffee?
Pastor coffee
‘DoesRamknow thefactthatMadhudrankteaor Madhudrankcoffee?’
*Which factdoesRamknow: that Madhudrankteaor that Madhudrank
coffee?’

In sum,wh-phraseandwhether/Qassociatedvith disjunctionaretreatedsimilarly
with respectto movementandscope stronglysupportingthat whether/Qandwh-phrases
shouldbegivenaunifiedsyntax.In analt-questiorwith disjunctionin anembeddedlause,
whether/Qmoves to the matrix clausein English justlike otherwh-phrasesandin Hindi,
wheresuchmovementis not allowedfor wh-phrasesthe scopemarker kyaais usedin the
matrix clausgust aswith otherwh-phrases.

5.2 Korean

Word orderfactssimilar to the onesin Hindi obtainin Korean. A nonwh-questioncon-
tainingadisjunctive phrasesuchascoffeeor teacanonly have ayn-questiorreading,asin
(58).

(58) Chulswu-ka khophi-na cha-lul masi-ess-ni?
Chulswu-Nomcoffee-or tea-Acc drink-Past-Int
‘Is it the casethatChulswudrankcoffee or tea?’ (yn-question)

In orderto obtainanalt-questiorreading cofeemustbe partof thefirst disjurctive clause,
andteamustbe partof the seconddisjunctve clause.Therearetwo waysto achieve this:

(i) by disjoining two clauseswithout deletingthe verb from neitherof the clause,asin

(59a);or (ii) by disjoining two clauseswith deletionof theverbfrom thefirst clauseasin

(59b).

(59) a. Chulswu-ka Kkhophi-lul masi-ess-ni, animywencha-lul masi-ess-ni?
Chulswu-Nomcoffee-Acc drink-Past-Intif-not tea-Acc drink-Past-Int
‘Which of thesetwo thingsdid Chulswudrink: coffee or tea?’
(alt-question)

b. Chulswu-ka khophi-lul, animyuencha-lul masi-ess-ni?

Chulswu-Nomcoffee-Acc if-not tea-Acc drink-Past-Int
‘Which of thesetwo thingsdid Chulswudrink: coffee or tea?’
(alt-question)
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Theaccusatie casemarkerin bothkhophi-lul(‘coffee’) andcha-lul (‘tea’) in (59b)
suggestshat clausedisjuncton is involved ratherthana simplenounphrasedisjuncton.
As shown in (58), a simple nounphrasedisjunctian allows casemarkingonly onthe head
noun. An examplewith a simple nounphraseconjunctionalsoallows casemarkingonly
ontheheadnoun,asin (60).

(60) John-i Mary-wa Sue-lul  po-ass-ta.
John-NomM ary-and Sue-Acc see-Rst-Decl
‘Johnsav Mary andSue.

Furtherin (59b),eachaccusatie-casanarkednouncanbefollowedby anadwerbasillus-
tratedin (61a),supportng our claim thatit involvesclausedisjuncton with verb deletion
in thefirst clause.On the otherhand,this is impaossiblein (58), asillustratedin (61b), as
we would expectfor asimde nounphrasedisjunctia.

(61) a. Chulswu-ka khophi-lul ppali, animyuencha-lul ppali
Chulswu-Nomcoffee-Acc quickly if-not tea-Acc quickly
masi-ess-ni?
drink-Past-Int
‘Which of thesetwo thingsdid Chulswudrink quickly: coffee or tea?’
(alt-question)

b. * Chulswu-ka khophi-na ppali cha-lul ppali masi-ess-ri
Chulswu-Nomcoffee-or quickly tea-Acc quickly drink-Past-Int
‘Is it the casethat Chulswudrankcoffee or teaquickly?’ (yn-question)

Korean,however, is differentfrom Hindi and English in that deletiontargetsthe
verbin thefirst clauseandnotthe onein the secondclause as(59b)-(62)shaw, a possible
reasorbeingthatKoreanis strictly head-final.

(62) * Chulswu-ka khophi-lul masi-ess-ni, animyuencha-lul?
Chulswu-Nomcoffee-Acc drink-Past-Intif-not tea-Acc
‘Which of thesetwo thingsdid Chulswudrink: coffee or tea?’
(alt-question)

NeverthelessKoreanshaws thatalt-questionsnustdisjoin full clausesindirectly support-
ing our analysighatin languageshatallow verbdeletionin the secondlisjunctve clause,
the syntaxof alt-questbnsinvolve ellipsis

6 Ellipsisin Conjunction with Right-node Raising

Sofar, we have consideredvhether/Q...occonstructionghathave a VP disjunctve phrase
or a disjunctive phrasein an objectposiion. How thenshouldwe handleconstructios
with disjunctive phrasan otherpositions?Here,we will considerthreesuchcases{i) alt-
guestionswith disjurction in a subjectposiion; (ii) alt-questbnswith a verbdisjunctia;
and(iii) constructionsn whichthedisjurction phrasds whetheror not.
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An accountonsistentvith ourapproacHor alt-questims,andalsousedn Schwarz’s
accounbf either..or (see(27b)),is to assumehatsomematerialmovesby right-noderais-
ing. In anexamplewith disjurctionin subjectposiion, asin (63), the VP finishthe paper
hasundegoneright-noderaising,makingavailablethe two alternatves Mary finishedthe
paperandJohnfinishedthe paper Thiscanberepresentedsin (64).

(63) Did Mary or John finishthe paper?
(64) Did [Mary t;] or [Johnt;] [y p finishthepaper] ?

For alt-questionswith verb disjunction, asin (65), we canalsoarguethatthe ob-
ject NP the bookhasundegoneright-noderaising,makingavailablethe alternatvesMary
boughtthebookandMary borrowedthebook asrepresenteth (66).

(65) Did Mary buy or borrow thebook?
(66) Did Mary [buy t;] or [borrow t;] [ vp thebook]; ?

For constructims in which the disjunction phraseis whetheror not, asin (67), a
possibé analysigs thefollowing. Thesourcesentencés asin (68a). Then,raisingthepos-
itive (PO andnegative polarities,or reconstructinghe subjectsyields the constitiengy
structurein (68b). Finally, the entire IP John finishedthe paperright-nade raisesout of
bothdisjuncts asrepresenteth (68c).

(67) | don't know whether or not Johnfinishedthe paper

(68) a. ...whethef;p Johnfinishedthe paper]or [;» Johndid notfinish the paper]
b. ..whethef;» POS[;p Johnfinishedthe paper]Jor [;» not[;» Johnfinishedthe
paper]]
c. ...whethefPOSt;] or [nott;] [;, Johnfinishedthe paper]

Anotherpossibleapproachs thatthe secondlisjurct or not moves andadjoinsto whether
afterellipsishastakenplace,asillustratedin (69).

(69) a. ...whethef;p Johnfinishedthe paper][or [;p Johnnot finishedthepaper]]
b. ...whethefor [;p Johnnotfinishedthepaper]} [;p Johnfinishedthe paper]t;

7 Conclusion

To concludepy arguingthatwhether/Qundegoesmovementwhereasitherdoesnot, we
were able to extendthe ellipsis analysisof either..or to whether/Q...or andyet explain
the apparenasymnetriesbetweenthe two typesof constructions.Given that whetheris
awh-form of either, the syntacticparallelismbetweernthe two typesof constructimsis a
welcomeresult.
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